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Directions: Place your answer to each question below in the answer column.
1) Find the sum of 19 hundreds and 11 tens. 1)
2) a@b=22anda#b= 23 Ifa#b="1%, then, in simplest form,
a@b= 2)
3) Onanumber line, the point labeled number 10 is twice as far from the point
labeled number 6 as it is from the point labeled pumber 12. There is another
point labeled number that is also twice as far from the point labeled
pumber 6 as it is from the point labeled number 12. 3)
4) A one-foot cube is to be divided
completely into 1" cubes. If all
the 1" cubes were to be placed
one on top of one another, the
stack of 1" cubes would be
feet high. B
1 4
12 )
5) Find the perimeter of the figure
at the right.
L
12 7
|- )

6) Inthe multiplication problem at the right, A, B, C,D ABCD

and E represent different digits. Each time the same 4

. letter appears it represents the same digit. Find the EBEA
number represented by ABCD. \ 6)
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The answer to each question is in parentheses at the beginning of each solution.

1) (2010) 1900 + 110 =2010.
2) (%) a @ b is the reciprocal of a# b. Sincea#b=7% =24, a@ b= ;.
3) (1%) 12-6=6. Add 6to 12, getting 18. Now point labeled number 18 is twice as far

from point labeled number 6 as it is from point labeled number 12.
18-12=6;18-6=12.

4) (144) There will be 1,728 of the 1" cubes (12 across the front, 12 deep and 12 high.
. 12x12x12=1,728). 1,728 x 1" =1,728" =144 f. (1,728 + 12).

5) (62) atctd=12 e+b=g+b=7 f=12. =

@
P=12+ 12 + 12+ 12 + 7 + J=62. 12 [ |

a+ct+d ? g+b m N2 A
' O
£=12, ; €
6) (234%) ABCD “A” must equal 1 or 2 or the product would be a 5-digit number.

X 4 SinceDx4=_A,“A”mustbeeven. A=2. D=3o0r8. E=8

EBEA. or9. EitherCx4+1=EorCx4+3=E,soEisodd. E=09.
IfD=3,C x4+ 1=9and C=2 which cannot happen (C # A).
ThusD=8andCx4+3=_9and C=4.

2B48
X 4 Bx4+1=_BandB=3. 2348
9B92. x 4

9392



